arcsec

20

10

arcsec
o

-10

-20

100

m
]
(]
S
(@)
O]
S 0
N
Il
E
A=

50

-50
-100

140

120

100

V (km/s)

-60 -40

-20 0
arcsec

20

40

UGC 02302

60

-20

-10 0

arcsec

10

20

- o ]
: | -
B : Mbar ]
- + o+ ey U "
L + I i
= : i
[+ | | : | | ]
0 5 10 15 20 25
Radius (arcsec)
V _
Vhalo 7
V3.6um ;
Vg |

40
Radius (arcsec)

60

10.17

arcsec

-60 -40 -20 0 20 40 60
arcsec
0.70 o T T
- | —— h= 29" -
1.0~ | .
0.52 | : — 0= 3.9
i . ——h=70" ]
0% 0.8 I E
i : rbar |
I
|
|
|

5

{-0.17 |
|
|
-0.35 |
|
|
-0.52 :
|
| i
-0.70 OO | T [ T I T [
0 5 10 15 20 25
Radius (arcsec)
40 |
o : ] [ g
1) S S U -
=20
& E
> 10 - 3
0 E I 1 1 1 g
0 20 40 60
Radius (arcsec)
Q... AT
rob : 'l rA2 : '
Qpeloeer ., A(r) : 0.22
rge[l)lo—corr . ATaX -
bar-only . max . + 05
Q Vaeum : 29.17 73 km/s
rear-ony . Mewm | 72.75 arcsec
(Qparontyyhalo-corr . Vaeum(Rop) = 29.17 2> km/s
(raronlyyhalo-corr . drVsem(0) 1 21.47 J2 km/s/kpc
Qq(ryy) : 0.487 2% M/M, (<R, : 15.92
Qfeeorr )1 0.10 a: 3.7kpc
e: 0.63 V_: 125.4 km/s
\I T
. : i
1.0 : 7]
0 i - ! ]
- |
—_— Q_T_alo corr | |
L bar-onl ! ]
_ QTar only :
0.8 _ Qbar-only&halo-corr 1 N
L T 1 i
|
, i
| . I -
0.6 ! -

10 15
Radius (arcsec)

25



